Physics 20: Module 6: Lesson 1
1
Assignment

	
	Module 6: Lesson 1 ASSIGNMENT

This Module 6: Lesson 1 Assignment is worth 22 marks. The value of each assignment and each question is stated in the left margin.


	(22 Marks)
	Lesson 1 Assignment: Work, Potential Energy, and Kinetic Energy


	(1 mark)
	TR 1.
	A 2.20-N object is held 2.20 m above the floor for 10.0 s. How much work is done on the object?



Answer:

	


	(2 marks)
	TR 2.
	A 60.0-kg student runs at a constant velocity up a flight of stairs. If the vertical distance of the stairs is 3.2 m, what is the work done against gravity?
Hint: Use the formula Fg = mg.



Answer:

	


	(4 marks)
	TR 3.
	A 10.0-kg object is accelerated horizontally from rest to a velocity of 11.0 m/s in 5.00 s by a horizontal force. How much work is done on this object? 

Hint: Use the following formula:
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Answer:

	


	(2 marks)
	TR 4.
	A 90.0-N box is pulled 10.0 m along a level surface by a rope. If the rope makes an angle of 20.0° with the surface, and the force exerted through the rope is 75.0 N, how much work is done on the box?



Answer:

	


	(1 mark)
	TR 5.
	A 25.0-N object is held 2.10 m above the ground. What is the potential energy of the object with respect to the ground?



Answer:

	


	(2 marks)
	TR 6.
	The kinetic energy of a 20.0-N object is 5.00 × 102 J. What is the speed of this object?



Answer:

	


	(2 marks)
	TR 7.
	A 10.0-N object is accelerated uniformly from rest at a rate of 2.5 m/s2. What is the kinetic energy of this object after it has accelerated a distance of 15.0 m?



Answer:

	


	(2 marks)
	LAB 1.
	Drag the object to the maximum height. What form is all of the energy in at this position? Is it gravitational potential energy or both gravitational energy and elastic potential energy? Explain your answer.



Answer:

	


	(2 marks)
	LAB 2.
	Where is the object located, relative to the equilibrium position, when it has the greatest kinetic energy? Explain why this occurs at this position.



Answer:

	


	(2 marks)
	LAB 3.
	What form of energy is present at the lowest position? Explain how this energy is stored differently than the energy stored at the highest position.



Answer:

	


	(1 mark)
	LAB 4.
	Explain why the potential and kinetic energies vary, as displayed in the graph. Select the mechanical energy graph for a hint!



Answer:

	


	(1 mark)
	LAB 5.
	Explain how gravitational potential energy, elastic potential energy, and kinetic energy interact during a bungee jump. You may use diagrams as part of your explanation.



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.
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